Q06-Exercise Key

Course in Semantics - Ling 531 / 731

McKenzie - University of Kansas

This workout has compositions with subject quantifiers. Given the structure, build the LF and the structure
for each clause.

1. Every cat purrs.

FA:t
VX[ cat(x) =1 — purrs(x) = 1]
VX[ cat(x) =1 — [Ax € De. purrs(x)[(x) =1 ]

S FA : ((e,t),1) NN : (e, 1)
Ag € Dieyy. Vx[ cat(x) =1 — g(x) =1] AX € De. purrs(x)
D VP Ag € Dieyy. VX[ [Ax € De. cat(x)](x) =1 — g(x) = 1] - ‘<e,t>
DO/\NP V‘O Ax € De. purrs(x)
LT: ((e,t), ({(e,1),1)) NN: (e, 1)

every =~ purrs
cat M €Dy Ag € Diey.  Ax € De. cat(x)

Ux[ f(x) =1 — g(x) =1]

2. All dogs are cute. (ignore the plural, and treat be cute as one word).

FA :t
Vx[ dogs(x) =1 — are cute(x) = 1]
VX[ dogs(x) =1 — [Ax € De. are cute(x)](x) = 1]

g FA: ({(e,1),1) NN : (e, t)
Ag € Dieyy. VX[ dogs(x) =1 — g(x) = 1] AXx € D,. are cute(x)
Ag € Dieyy. VX[ [Ax € De. dogs(x)](x) =1 — g(x) = 1] \

Dr VP ! LT: (e, 1)
D°/\NP V‘o Ax € De. are cute(x)
all  —~_ are cute LT : ((e,t), {{e, 1), 1)) NN : (e, )

dogs M €Dy Ag € Diey.  Ax € De. dogs(x)

Ux[ f(x) =1 — g(x) =1]



3. Every dog barked.

DP VP

N ‘
De° NP Ve
every =~ barked
dog

FA : ({e,

FA : ¢

vx[ dog(x) =1 — barked(x) =1 ]
VX[ dog(x) =1 — [Ax € De. barked(x)](x) =1]

t),1)

Ag € Dy Vx[ dog(x) =1 — g(x) = 1]

LT: <<€, t>’ <<6, t>a t>>
M e D(e,t>.}\g S D(e,t)-
Ux[f(x) =1 — g(x) = 1]

Ag € Dieyy. VX[ [Ax € De. dog(x)](x) =1 — g(x) = 1]

NN : (e, t)
AX € De. dog(x)

NN : (e, t)
Ax € D,. barked(x)

|
LT: (e, t)

AX € De. barked(x)

4. A dog slept.

FA : ((e,

FA : ¢

Ix[ dog(x) =1 & slept(x) =11
Ix[ dog(x) =1 & [Ax € D,. slept(x)](x) =1 ]

t),1)

Ag € Dieyy. Ix[ dog(x) =1 & g(x) = 1]

LT: ((e,t), ({e,1). 1))
M e D(e,t)-)\g S D(e,t)-
X[ f(x) =1 & g(x) =1]

Ag € Dieyy. IX[ [Ax € De. dog(x)](x) =1 & g(x) = 1]

NN : (e, 1)
Ax € De. dog(x)

NN : (e, 1)
AX € De. slept(x)
|
LT: (e, t)
Ax € De. slept(x)



5. Some cats meowed. (ignore the plural marker)

Dr VP
De NP Ve

some _—~_ meowed

cats

FA: ((e,t),t)
Ag € Dieyy. Ix[ cats(x) =1 & g(x) =1]
Ag € Dieyy. IX[ [Ax € De. cats(x)](x) =1 & g(x) = 1]

LT : ((e,t), ({e, 1), 1))
M € Dy Ag € Diey-
Ix[ f(x) =1 & g(x) = 1]

FA :t

NN : (e, t)
AXx € De. cats(x)

Ix[ cats(x) = 1 & meowed(x) =1 ]
Ix[ cats(x) =1 & [Ax € De. meowed(x)](x) =1 ]

NN : (e, t)

Ax € De. meowed(x)

LT: (e, t)

Ax € De. meowed(x)

6. No dog purrs.

DP VP

/\
De NP Ve
no dAog purrs

FA: ((e,t),t)
Ag € Dieyy. 3x[ dog(x) =1 & g(x) = 1]
Ag € Dieyy. =3[ [Ax € De. dog(x)](x) =1 & g(x) =1]

LT : ((e,t), {{e,t),1))
M € Dy Ag € Diey-
—3x[ f(x) =1 & g(x) = 1]

FA:
—3x[ dog(x) =1 & purrs(x) =1 ]
—3x[ dog(x) =1 & [Ax € De. purrs(x)](x) = 1]

NN: (e, )
Ax € De. dog(x)

NN : (e, t)
AX € De. purrs(x)

|
LT: (e, t)
Ax € De. purrs(x)



7. No cats hibernated. (ignore the plural)

DpP VP

/\ ‘
D° NP Ve

no =~ hibernated
cats

8. A dog bit Bill.

P P
De NP V° DpP

dog Bill

FA:t
—3x[ cats(x) = 1 & hibernated(x) =1 ]
—3x[ cats(x) =1 & [Ax € De. hibernated(x)](x) =1 ]

FA : ((e,t),1) NN : (e, 1)
Ag € Dieyy. —3x[ cats(x) =1 & g(x) = 1] Ax € De. hibernated(x)
Ag € Dieyy. =3X[ [Ax € De. cats(x)](x) = 1 & g(x) = 1] |
LT: (e, t)
AX € De. hibernated(x)
LT: ((e,t), {{e,t),1)) NN: (e, )
M €Dy Ag € Dieyy.  Ax € De. cats(x)
—3x[ f(x) =1 & g(x) = 1]

Bring this composition to class on Tuesday



